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C. Sideline diffusion
D. Backdoor diffusion

Answer: A

QUESTION: 87

What type of authentication is used in the following Pocket SOAP code?

Dim Envelope

DimHTTP

Set Envelope = CreateObject("PocketSOAP.Envelope.2")

Set HTTP = CreateObject("PocketSOAP.HTTPTransport.2) Envelope.SetMethod
"GetSome", "http://www.mysite.org/message/" Emvelope.Parameters.Create
"SomeParameter", "SomeValue" HTTP.SOAPAction =
"http://www.mysite.org/action/Service.GetSome” HTTP.Authentication "Username”,
"Password"

HTTP.Send http://www.mysite.org/webservice. WDSL",Envelope.Serialize
Envelope.Parse HTTP

MsgBox "Result: " & Envelope.Parameters.Item(0).Value

A. Digest authentication

. SSL authentication

C. Basic authentication

D. Integrated authentication

Answer: C

QUESTION: 88
What function can be used with SQL to encrypt user supplied-passwords to that they can
be compared with the encrypted passwords stored on the SQL server?

A. pwdencrypt()
B. userencrypt()
C. DESpassword()
D. passwordin()

Answer: A

QUESTION: 89
Darren has just been hired on as the SQL dba for Fredrickson Inc., a marketing firm in
New York City. He has been asked to clearn up the SQL databases on one of the servers.
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A. Symmetric encryption
B. MITM encryption

C. Reverse-key encryption
D. Asymmetric encryption

Answer: D

QUESTION: 97
Peter is writing a program that has a GUI front-end and uses a MS SQL database as a
backend. Peter's application will repeatedly update and call upon specific tables in the
database on a regular basis. Peter wants to make sure that his program always has the
ability to update the database and that no other calls or updates can touch the database
tables used at the same time. How could Peter accomplish this in his application?

A. Explicit lock

B. SET TRANSACTION EXCLUSIVE
C. SET TRANSACTION WRITE

D. Implicit lock

Answer: A

QUESTION: 98

Victor has completed writing his software application and is now working on error
messages that will be displayed in case of any kind of failure or problem. He has written
code that will display a op-up message where there is an error. He has also written code
that explain the error that has occurred. What is the last aspect of error messages that
Victor needs to create for his application?

A. Display exact code in application where erroroccurred
B. Suggest solution

C. Shut down application so no damage canoccur

D. Fix error in application

Answer: B

QUESTION: 99
What type of problem will result if the following statement is used?
int main()

{

short int a;
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unsigned short int=b32768;
a=b;

printf( " a=%d", a);
b=65535;

a=b;

printf( " a=%d", a);

}

A. Truncation

B. Pointer subterfuge

C. Sign error

D. Function-pointer clobbering

Answer: A
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